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ECONOMICS SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 20 minutes and handed over to the Centre Supetintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

{i) Which was the third stage of the evolution of Economic life?

A Pastoral stage B. Hunting and gathering stage
C. Agricuiture and Handicraft stage D. None of these

(i) In socialism the main objective is:
A. To earn profit B. To have freedom of enterprise
C. To provide social welfare D. None of these

(i) Which of the following is not an un-economic want?

A Air B. Money C. Water D. None of these
(iv) Supply curve has always a slope.

A Positive B. Negative C. Horizontal D. Vertical
v What is the reward of capital?

A, Wages B. Rent C. Profit D. Interest
(vi) Human wants are unlimited, but resources are:

A Limited B. Unlimited C. Scarce D. None of these
{vii) Increase in Price, results in in demand.

A, Increase B. Decrease C. Same D. None of these

(viii)  Factor of production are:

A. 3 B. 2 C. 5 D. 4
(ix) The remuneration paid to labour is called:
A Rent B. Wages C Interest D. Profit
(%) Which factor does not affect demand?
A Change in fashion B. Change in income
C. Change in weather D. Change in personality
(xi) “‘GDP" is a part of:
A. Gross National Product (GNP) B. Net National Product (NNP)
C. Gross Personal Income (GPI) D. None of these

(xii) The value of goods in terms of meoney is called:

A Price B. Utility C. Satisfaction D. None of these
(xiii)  The Market will be in equilibrium when:

A Price = Demand B. Demand = Supply

C. Price = Supply D. None of these
(xiv)  Due to the scarcity, people have to make:

A Roads B. Buildings C. Grounds D. Choices
(xv) In people are allowed to do their own business.

A Socialism B. Capitalism

C. Mixed economy D. None of these
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ECONOMICS SSC-I i)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36

Q.2 Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12x3=136)

Note:
Q.3
Q.4
Q.5
Q.6

0]

(if)
(i)
(iv)

(xii)

(xiii)

What is meant by Economic wants?

What do you know about Pastorai stage in the evolution of Economic life?
Define the concept of Market equilibrium?

What is meant by wages?

Wirite down the definition of Economics of Prof. Robbins'.

Differentiate between supply and stock.
What is meant by utility?

What is meant by Net Profit?

What is meant by value?

Write a short note on savings.

What are the responsibilities of an organizer?
What is meant by Gross Rent?

What three conditions are necessary to be fulfilled for demand?

(xiv)  Define consumption.
{(xv) Differentiate between National Income (NI) and Personal Income (PI).
{(xvi)  What is meant by capital?
(xvii)  What is meant by supply?
(xviii)y Draw a curve using the following data and name the curve:
Price 2 4 6
Quanity |10 |20 | 30
SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Write down various stages of Evolution of Economic life.

Explain the law of demand with the help of schedule and diagram.

What is meant by National Income? Write down different concepts of National Income.

Write  short notes on the following:

a.
b.

Profit
Scarcity
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